Area of Polygons
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Find the area of the following polygons. They are not drawn to scale.

KLMN is a Trapezium BCDE is a Parallelogram OPQR is a Rhombus
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Answers

Find the area of the following polygons. They are not drawn to scale.

KLMN is a Trapezium
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5cm

h:
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N 8cm

Area: 35 cm’

DEFG is a Parallelogram
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Area: 36 cm’

RSTU is a Rhombus
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BCDE is a Parallelogram
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Area: 30 cm’

6cm

h=5cm

ABCD is a Rhombus
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Area: 30 cm’

NOPQ is a Parallelogram

N 9cm 0

h=8cm

9cm

Area: /2 cm’

OPQR is a Rhombus

0) 4cm

e

h=5cm

-

www.mathinenglish.com

Q

Area: 20 cm’

GHLUJ is a Trapezium
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Area: 42 cm’

KLMN is a Trapezium
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Area: 36 cm’




